Ecological Pyramid Worksheet
Name___________________________



Date____________
Daily Grade







Period___________

Use figure 4-18 on page 77 to complete this worksheet.
Diagram an energy pyramid with EACH organism named and placed at the proper trophic level or levels.  Label each step of the pyramid with the appropriate trophic level.

Assume the sun transmits 5,000,000 Kcal of energy to this area. Calculate the amount of energy that is passed to the next trophic level if producers are 1% efficient, herbivores (primary consumers) are 15% efficient and all other consumers are 10%. 
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Ecological Pyramid Worksheet

Questions:

1.
Why are there more herbivores in an ecosystem then carnivores? (usually)

2.
Why could an ecosystem support an omnivore more easily than a carnivore?

3.
What units would a pyramid of biomass use? __________________

4.
Explain what happens to the energy “lost” at each trophic level.  


What process is involved that explains this “loss”?

5.
What types of pyramids (from which ecosystems) would not be “pyramidal” in shape?

6. 
Explain why humans should eat “low on the food chain” if they are an environmentally concerned person.  Include both ecological footprints/resource use as well as energy flow.
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